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Cost Analysis & Control : 2016
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State whether the following statement ‘true’ or *false’ :
(i) ‘FEAT AT R 2| g e
*Works cost® is different from *works expenses’.
(i) “ofErer o @ s dar we w9 # o d 81
“Operating cost is the cost of providing a service”,
(iiy T = faw - fer = |
Contribution = Sales - Fixed Expenses
(iv) &8 Fram & wj@ 32y - e, g @ fE R
The main objects of Budgetary Control is Planning, Co-ordination
and control.
(v) Y& 99y faao wde ‘s’ fasm @
Idle time variance is always favourable variance.
v ‘q9 (a9 i wv)
AN F W T A gEEd ) gEEEa
What do you understand by cost centres ? Explain.
et e o R2 wEed
Explain Material Control? -
A IUEA § aan aread #2

What is meant by Equivalent Production ?

Y] G e f darsit 3 sraErt | any aar 42

4.

.o what services or businesses is operating costing applied?

g Uferaie i fage fifaw

Discuss Marginal Costing,.

RYET IeqeA WA-wR favemn ¥ @2 |wesd)

fi

What is Break-even Analysis? Explain.
‘foraren® a9’ ¥ F1 IV @72

What is meant by functional Budget?

gl A AFEO H Uit fafEw

Define cost Audit.
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6.  UH% ufemdl & @it @ faase FifEg)
Discuss the advantages of standard costing.
YT ITANT faERer a9 39-3I9En faEw § 9e fifE)
Differentiate between usage variance & sub-usage variance.
wvg - ‘w (4 salg 9v)
7. 3ufted WA €7 I A A fear s 2
What are overheads? How are they classified?
Fgar '3’ @ ‘q’ A geofedl # faEo e aE R -
A 39ENT 10 3HEAT WA AR TAF A
AaH 3T 5 A Wid WA WeAT @l
sifuad 3T |5 gehreat ufa g uedsw
A Y qE A - o0 ZeEAl
‘q - 100 FEEE
T SRW Iafy ‘A - 38 5 sHEA
: ‘T - 29 4 gAR
yedd WA & fqu o HifS F 4
(31) T MW EW (q)  gAAH &
(@) MfMEHaH & (@ 3wa wiE '
The particulars of *A’ and "B material are as follows -
Normal usape |0 units per weak of each
Minimum usage 5 units per weak of each
Maximum usage 15 units per weak of each
Re-Order Quantity "A’ - 60 units
“B7 - 100 units
Re-Order Period “AT-3 1o 5 weak
‘B -2 o4 weak
ik, 2014 1.80.000 G 2,000
T [T FE g - i
R You are required to .
(i) oY HET FIE Profit volume ratio
(i)  ww-faeag fag W faah Sales of B.E.P,
(i)  3.00,000 &. ¥ fasfl W amvmeifaa s/
Expected profit or loss with sales of Rs. 3,00,000.
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@ A3 SEUT & UeHY 3RE F AN 9T 99 F g anTal ¥ gEy
st fafir srgard, Fe qoia Hifs

As a cost Auditor of a large organisation describe the procedure you
would adopt with regard to labour and materials costs.

‘T’ AR ‘TR feEw’ @ ufafre e o dTed ¥ aeed freEm
F @V FaAEd

Define *Budget” and *Budgetary control’. State the advantage of budget-
ary control in an orpanisation. . '

WA U A ORI AT q9r RmEd ) e & & R a
1 T :

Define and explain standard costing. What are the tvpes of standards?
Explain.

frfafaa faam & feafafea adl faaroll &1 qom1 @ifse @9 37
gay o gfey)

From the following particulars calculate the following material variances

and give their relationship.

(i) Ml |rTE fa=Ro Material cost variance
(i) gl IwE faEo Material usage variance
(i) 9 g faao Material Price variance
(iv)  araet-fisor faso Material mix variance
(v) 9l 39-39Em faemwm \aterial sub-usage variance
EIEE] ; A ah
At Standard Actual
Material Qty, Price Oty. Price
A 10 8 10 7
B 8 6 9 7
c 4 2 5 I
2 ]
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